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(AC=) 9.5 +11.17 2x9.5x1 1.1cos70
square root of correct combination
(1413279...) or 11888...

119 (cm)

(Opp. angles of) cyclic quadrilateral
(add to 180)

70— 37 attempted 5.0

AD _ = their(a) o.e.
sin33  sin110

(AD=) their (a) x sin33
sinl10
art 6.89 or 6.90 (cm)

70

(h =)their(a)x tanSSor their(a) (8.497..)
2 2xtan35

(area =) 0.5 x their(a) x their(h)  o.c.

50.4 to 50.8 (cm’)
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Allow M1 for 9.5 + 11.12—~ AC* = cos70
2x9.5x1L1

Dep. on previous M2. Must be convinced that
errors are due to slips not incorrect combination.

www4  Scale drawing gets MOAO.
Condone 180 —70= 110 o.e. (not spoilt)
c.g. 32 or 34 or 43, but be convinced.
Dep. on first M1

Dep. on M2
Would imply M3 if nothing incorrect scen earlicr.

Condone 6.9 wwwé Scale drawing gets MOAO

If not 70, ft for method in (ii), but not from 90 or60

(ECorEA=) their(a) or their(@) (10.37...)
25sin35 2.coss5
Dep. on first M1

(arca=) 0.5 x EC x EA x sin70 or Hero’s Method

www3 13
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